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Jordan University
Electrical Engineering Department
1 Eram, 4™ Semester
Electric Engineering, 0903203

. ' gud TR Y o
b \a"" & wiaL d?ﬁaa St.#f: Ol(/yl u -~ Aug. 2" 2007, Exam Tasts 1.2
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Probiem, 1: In 1l it shown.find the voltage v, by using nodal voltage analysis, then deteymine
n the cira
the power delivered /absorbed I)\ current source.
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ple of superposition.

‘cnit shown below find the value of iy, by using princl
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Problem 3 : For the circuit shown below find the current iz, flown through the resistance of Ry, by
using thevinen equivalent circuit.
e
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Problem 4 . In the cirenit shown, use mesh current method to solve for 4
Data Ry = Ry e Ry = Ry o= 10, Ry = 3 0r, = 10V, ki, = 54 e e unknown oy,
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